1 2 3 4 5 7 8
J1
1x3
POWER(+7V to +24V) 1 a o
2
GND 3 -
R12 20K
VOLTMETER INPUT o—L AAANAS
—
(+0V to +24V) cew cw 1 R6
o~
Meter 470 220
5 Calibration o~
el R3  3.90K < )
S 2 1
2 A
- — -
b ° ° c1 t+ s Tt e
S 0.1uF 10uF T 10ur
N | R4 ca - p1 o~ ~ 50V o~ 50V 1N4148
[} -
je))
8 §
S| 120K | 0.1uF o 1N4148 \V4
- > ~ GND
In Circuit - GND GND GND
Programming ..
Header 7o)
33 GND GND GND U1
1x7 PIC12HV615
1 R2 100
VPP
+5V 2 2 1 D vssH2 c2
GND v 25— GP5/T1CKI/PLA*OSC1/CLKIN . 4TUF 2
ICSPDATA ZGP4/AN3/CIN1-/~T1G/P1B*/OSC2/CLKOUT Q 25y
ICSPCLK s GP3/~T1G*~MCLR/VPP RS 2N3904 1x2
KEYWAY 7 1| 2 1 SPEAKER+
ICSPMODE(N.C.) | —X | b2 GPO/ANO/CIN+/P1B/ICSPDAT (& 1.00K 3
GPL/ANL/CINO-VREF/ICSPCLK -2 GND, 100K +I\ SPEAKER-
” GP2/AN2/TOCKI/INT/COUT/CCP1/P1A VAN
| 1N4148
R9
0.0
-
R11
1.00K
V h V
GND N GND GND GND
ccw cw
1 3
— A\ VVW———»
R1I0 10K
Morse Speed Title
CW Voltmeter
V Author
GND WA7ZVY
File Document
I\Design\CWVM\Schematic\AO4\CWVM_A04.dsn 091118.1
Revision Date Sheets
A04 April 8, 2010 l1of2
1 2 3 4 5 [ 7 [ 8




2 3 4 5 6 7 8
Spacer 1/8 inch Nylon #6 4-40x5/8 Mach Screw SS 4-40 Hex Nut SS Speaker-PCB 38mm 8 Ohm Adhesive Foot
8 BOM_1 8 BOM_5 8 BOM_9 8 BOM_13 8 BOM_17
Spacer 1/8 inch Nylon #6 4-40x5/8 Mach Screw SS 4-40 Hex Nut SS SW Push Mini SPST Adhesive Foot
8 BOM_2 8 BOM_6 8 BOM_10 8 BOM_14 8 BOM_18
Spacer 1/8 inch Nylon #6 4-40x5/8 Mach Screw SS 4-40 Hex Nut SS Case ABS 3.125 x 2 x 0.875 Adhesive Foot
8 BOM_3 8 BOM_7 8 BOM_11 8 BOM_15 8 BOM_19
Spacer 1/8 inch Nylon #6 4-40x5/8 Mach Screw SS 4-40 Hex Nut SS Cable 3 Cond Shield (mod) Adhesive Foot
8 BOM_4 8 BOM_8 8 BOM_12 8 BOM_16 8 BOM_20
Title
MH1 MH2 MH3 MH4 CW Voltmeter
Plated #4 Plated #4 Plated #4 Plated #4
Author
- — — —
WA7ZVY
File Document
I\Design\CWVM\Schematic\AO4\CWVM_A04.dsn 091118.1
Revision Date Sheets
A04 April 8, 2010 20f2
2 3 4 5 6 7 8




